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Find the following,
o What swm would yield oawn interest of $56 inw 1 yeawrs at 2.5% per
arnwvuun?

o Arisav borrowed $5000 from Meenww at 7% per avwvuun. After 6 year
she cleared the amount by giving $5600 cashv and av watch. Find
the cost of the watch.

o Inhow many yeauwswidl $500 yield avvinterest of $112 at 14% simple
nlerest?

o At what rate per cent per avvunm will $400 yield anv interest of $78
w5 years?

o Simple interest ovv v sum of money at the end of 5 years is 0.8 of
the suwm itself. Find the rate per cent per avrwum.
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